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Program « Poncage
060 axe re V2
lebon » has been
saved as « Poncage
060 axe re V3
lebon »
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We take the same point, on the same
deplacement. No change has been made.
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Offset has - U



The robot go an other
point. It probably go to
the same point, but in
an other function.

This problem occur with
severals points of the
deplacement. Some
point are still at the
good place. There is no
relative deplacement
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Program « poncage
060 axe V3 lebon »
has been upload on 3 Irg_[
virtual polyscope. -
Same error occur.
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